ENGR-2060

E.M. - DYNAMICS

NAME DATE

WEEK: PROBLEM:

GIVEN:

At the instant shown, the magnitude ’ _
of the airplane’s velocity is 130 mw/s, its tangential P .
component of acceleration is ¢; = —4 m/s~, and the rate _ \
£ - 5o e \
of change of its path angle is d6/dr = 57/s. = \¢

(a) What are the airplane’s velocity and acceleration -".‘%

in terms of normal and tangential components? ————_____——
(b)  What is the instantaneous radius of curvature of the
airplane’s path?

REQUIRED:

SOLUTION:
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